Algebra II
Quiz Chapter 4 - I


Answer each of the following showing your path to solution. Indicate your final answer.

1. Write the inverse in logarithmic form of y = 6X.


2. Write log B 64 = A in exponential form.


3. Sketch the graph of y = 2X and its inverse.


4. Evaluate log 4 64.


5. Evaluate log 25 125.


6. Evaluate ln 168.


7. Evaluate log 673.


8. Write as a single logarithm 2log 3 4 – log 3 2.


9. Simplify log 12 1.


10. Simplify 6log 8 2.


11. Simplify ln e.


12. Simplify 2log 5 + log 4.


13. Evaluate log 15 624.


14. Evaluate 
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15. Solve 
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16. Solve and round to the nearest hundredth 4X = 9.
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